










56

MOTOR CONNECTING DIMENSIONS OF SPEED VARIATOR 3

MR7

size motor
size

IEC motor 
fl ange type

fl ange dimensions [mm]

D1 D2 D3 D4 G1 L1 L2 T1 U1

MR7
BG80 B5-200 19 130 165 200 M10 40 4,5 21,8 6

BG90 B5-200 24 130 165 200 M10 50 4,5 27,3 8

table 49 3

size motor
size

IEC motor 
fl ange type

fl ange dimensions [mm] 

D1 D2 D3 D4 G1 L1 L2 T1 U1

MR9
BG100 B5-250 28 180 215 250 M12 60 6 31,3 8

BG112 B5-250 28 180 215 250 M12 60 6 31,3 8

MR11
BG112 B5-250 28 180 215 250 M12 60 6 31,3 8

BG132 B5-300 38 230 265 300 M12 80 6 41,3 10

table 50 3

MR9, MR11

picture 46 3

output input

input hollow shaft

picture 45 3

output input

input hollow shaft

All speed variators can be delivered according to NEMA motor connecting 

dimensions. Further IEC motor flange types and input hollow shaft 

diameters (D1) on request.



57

size IEC fl ange type fl ange dimensions [mm]

B5 B14 D6 D7* D9 G0 (B5) G0 (B14) L15 L16 (B5) L16 (B14)

MRV
 B5- 80  B14 -80 80 50 65 5,5 M5x8 2,5 8 8

 B5- 90  B14 -90 90 60 75 5,5 M5x8 2,5 8 8

MR1

 B5- 90  B14 -90 90 60 75 5,5 M5x15 2,5 6 15

 B5-105  B14-105 105 70 85 6,6 M6x15 2,5 7 15

 B5-120  B14-120 120 80 100 6,6 M6x15 3 10 15

 B5-140  B14-140 140 95 115 9 M8x15 3 10 15

  B5-160 160 110 130 9 3,5 10

MR3

 B14-90 90 60 75 M5x10 2,5 20

 B5-105  B14-105 105 70 85 6,6 M6x12 2,5 6 20

 B5-120  B14-120 120 80 100 6,6 M6x20 3 7 20

 B5-140  B14-140 140 95 115 9 M8x20 3 9 20

 B5-160  B14-160 160 110 130 9 M8x20 3,5 9 20

 B5-200  B14 -200 200 130 165 11 M10x20 3,5 12 20

MR5

 B14 -120 120 80 100 M6x16 3 20

 B5-140  B14 -140 140 95 115 9 M8x16 3 8 20

 B5-160  B14 -160 160 110 130 9 M8x20 3,5 9 20

 B5-200  B14-200 200 130 165 11 M10x20 3,5 12 20

 B5-250 250 180 215 14 4 15

MR7

 B14-140 140 95 115 M8x20 3 25

 B5-160  B14-160 160 110 130 9 M8x20 3,5 12 25

 B5-200  B14-200 200 130 165 11 M10x20 3,5 11 25

 B5-250 250 180 215 14 4 12

 B5-300 300 230 265 14 4 12

MR9

 B14-160 160 110 130 M8x25 3,5 30

 B5-200  B14-200 200 130 165 11 M10x25 3,5 12 30

 B5-250  B14-250 250 180 215 14 M12x30 4 12 30

 B5-300  B14-300 300 230 265 14 M12x24 4 12 30

 B5-350 350 250 300 18 5 12

MR11

 B14-200 200 130 165 M10x20 3,5 40

 B5-250  B14-250 250 180 215 14 M12x24 4 19 40

 B5-300 300 230 265 14 4 15

 B5-350 350 250 300 18 5 15

 B5-400 400 300 350 18 5 16

           D7* fitting clearance    ø 230 in j6

   ø 230 in h6

table 51 3

4OUTPUT FLANGE DIMENSIONS

output fl ange dimensions

picture 47 3



58

RADIAL AND AXIAL FORCES OF SPEED VARIATOR OUTPUT SHAFT3

permissible output shaft load

output input

Point of load application corresponds to the centre of the 
output shaft. The values for FR have regard to 30 % axial 
force.

If force entry of radial load FR is out of centre of output shaft, 
then the permissible values of force (x > L2/2) will reduce or 
the permissible values of force (x < L2/2) will increase.

Points of load application on speed variator output shaft:

FA permissible axial force
FR permissible radial force
L2 shaft length
x distance

picture 48 3

permissible output shaft radial force FR [N]

size type of construction

B3/B14 V/B5

MRV 90 –

MR1 250 300

MR3 370 500

MR5 600 800

MR7 700 1.000

MR9 900 1.300

 MR11 2.100 3.700

table 52 3

V Reinforced/double output shaft bearing (without output flange

 centering, with tapped holes in foot socket)

Please note:

The maximum permissible radial loads for a maximum output speed 

n2 = 1,200 rpm (speed variator with 2-pole motor) and a rolling-contact 

bearing service life of 20,000 h are indicated in table 52.

If output speed range is used below n2 = 1,200 rpm, then permissible radial load will increase and bearing 
life respectively. Such as for n2 = 600 rpm permissible radial load on output shaft will duplicate and also 
bearing life.

Special executions for exceptional high radial and axial loads (e. g. as pump drive, progressive 
cavity pumps amongst others) or longer bearing life can be realized on request.

For closer technical information please contact planetroll®.



59

4MECHANICAL CONTROL ELEMENTS 

size control 
element dimensions [mm]

B1 D0 D1 L1 L2

MRV HRN 62 32 28

MR1 HRN 90 40 36

MR3 HRN 125 50 31

MR5 HRN 162 50 31

MR7 HRN 200 70 52

MR9 HRN 236 100 50

 MR11 HRN 236 125 50

size control 
element dimensions [mm]

B1 D0 D1 L3 L4

MRV  HVN 62 13 28

MR1  HVK4 90 40 57

MR3  HVK5 125 50 64

MR5  HVK5 162 50 64

MR7  HVK6 200 70 92

MR9  HVK7 236 100 92

 MR11  HVK7 236 125 92

Notice:
Further to speed setting by means of hand wheel, an electric speed setting is also possible (see page 62).

control element: HRN

table 53 3

table 54 3

technical data/HVK:

housing: black, of polyamid 6.6, impact-proof with window

Ziffern: black

display: 
 4large scale:  0 - 12 with scaling
 4fi ne scale: 0 - 100 with scaling

hand wheel: HRN black, plastics (aluminium)

 4dust- and waterproof

spoke hand wheel 
MR9 and MR11

hand wheel (cord knob) 
MRV to MR7

standard execution 
without display

hand wheel (cord knob) 
MRV to MR7

spoke hand wheel 
MR9 and MR11

execution 
with display

control element: HVK

A very precise repeatable adjustment of variator output 
speed can be realized over the complete speed range by 
using the omnidirectional position indicator HVK.

MR9 and MR11 are equipped with a spoke hand wheel. 
The spoke hand wheels HRN and HVK for speed variator 
sizes MR9 and MR11 are made of aluminium.

picture 50 3

picture 49 3



60

MECHANICAL CONTROL ELEMENTS 3

technical data:

position indicator: dustproof
rotational direction to the right: increasing values
standard scale: 0 -  6 with scaling
 0 -12 with scaling
hand wheel: HRS, die -cast aluminium

options:

4 special scales
4 mineral glass display
4 2 pointers
4 waterproof

size control 
element dimensions [mm]

B1 D12 L21

MRV HRS 62 75 54

MR1 HRS 90 75 57

MR3 HRS 125 75 47

MR5 HRS 162 75 47

MR7 HRS 200 100 70

MR9 HRS 236 120 78

 MR11 HRS 236 120 78

This control element makes it possible to read the adjusted 
position by means of pointer and scale inside hand wheel. 
This control element HRS (gravity position indicator) is only 

suitable for speed variator assembly with horizontal setting 
shaft.

control element: HRS

picture 51 3

table 55 3



61

4MECHANICAL CONTROL ELEMENTS

size control 
element dimensions [mm]

B1 D0 D1 D2 D3 D4 D5 D6 D7 G L6 L7 L8 L9 L10 L11

MRV FGK4 62 50 52 38 25 42 8 13 2x4,5 73 10 22 40 37

MR1 FGK5 90 50 75 46 25 65 8 13 2x4,5 74 10 24 42 51

MR3 FGK5 125 50 75 46 25 65 8 13 2x4,5 74 10 24 42 41

MR5 FGK5 162 50 75 46 25 65 8 13 2x4,5 74 10 24 42 41

MR7 FGK6 200 70 80 58 50 65 12 25 4x5,5 108 10 27 57 39

MR9 FGK7 236 100 80 58 50 65 12 25 4x5,5 102 10 27 57 39

 MR11 FGK7 236 125 80 58 50 65 12 25 4x5,5 102 10 27 57 39

size control 
element dimensions [mm]

B1 D0 D1 D2 D3 D4 D5 D8 D9 G L6 L7 L8 L12 L13 L14 L15 L16 Rmin

MRV FBW4 62 50 52 38 25 42 SW27 14 2x4,5 67 10 11 60 60

o
rd

er
in

g
 l
en

g
th

 fl
 e

xi
b
le

 s
h
a
ft 3 110

MR1 FBW5 90 50 75 46 25 65 SW27 14 2x4,5 74 10 13 60 60 18 110

MR3 FBW5 125 50 75 46 25 65 SW27 14 2x4,5 74 10 13 60 60 9 110

MR5 FBW5 162 50 75 46 25 65 SW27 14 2x4,5 74 10 13 60 60 9 110

MR7 FBW6 200 70 80 58 50 65  33 24 4x5,5 108 10 14 100 100 23 230

MR9 FBW7 236 100 80 58 50 65  33 24 4x5,5 102 10 14 100 100 23 230

 MR11 FBW7 236 125 80 58 50 65  33 24 4x5,5 102 10 14 100 100 23 230

control element: FGK

control element: FBW

FGK = Remote control by means of propeller shaft, connection acc. to DIN 808, angular misalignment max. 30°.

FBW = Remote control by means of fl exible shaft, connection acc. to DIN 75 532.

Rmin =  Minimum permissible 
bending radius

table 57 3

table 56 3

picture 53 3

picture 52 3



62

ELECTRICAL CONTROL ELEMENTS 3

control element: EFB electric remote control

This electric remote control for sizes MR7, MR9 and MR11 
consists of a three -phase motor and a safety coupling as 
torque limiter. The standard setting time is 24 seconds for the 
complete speed setting range.

Special operating voltages for EFB on request.

Options for all remote controls:

Setting time 6, 12, 24, 60, 120 seconds. All electric 
remote control motors can be delivered acc. to ATEX 95 
for zones 1 and 21.

picture 54 3 table 58 3

picture 55 3 table 59 3

size dimensions [mm]

B1 D11 L19 L20

MR7 200 112 97 168

MR9 236 112 97 168

 MR11 236 112 97 168

The dimensions D11 and L20 are specifi ed for the 
EFB with standard setting time of 24 seconds.

size dimensions [mm]

B1 D10 L17 L18

MR1 90 65 135 13

MR3 125 65 127 13

MR5 162 65 189 13

MR7 200 65 200 13

The linear size L17 is specifi ed for the EFB with 
standard setting time of 24 seconds.

This electric remote control consits of a synchronous motor 
and a safety coupling as torque limiter. The standard setting 
time is 24 seconds for the complete speed setting range.

Operating voltage 230 volts, 50/60 Hz

Operating voltage 400 volts, 50/60 Hz



63

4MOUNTING POSITIONS AND WEIGHTS OF SPEED VARIATORS

The speed variator mounting positions are marked with the numbers 1 – 2 – 3 – 4 – 5 – 6. Deviating mounting positions, 
so-called pendulum positions, can be realized as well.

picture 56 3

table 60 3

mounting position
1 2 3 4 5 6

B3, B5, B14 V3, V6, V19 B8 V1, V5, V18 B6 B7

size weight [kg ] 

MRV 0,94 

MR1 2,21  

MR3  5,70  5,72  5,70  5,77  5,70 

MR5  11,68  11,75  11,68  11,82  11,70 

MR7  20,22  20,46  20,22  20,52  20,22 

MR9  39,48  39,75  39,43  39,91  39,48 

 MR11 103,00  101,60  104,10  102,30 

           
The indicated weights refer to type of construction B14 

with input hollow shaft as well as control element HRN.  

 

2

4

5

6

3

1



64

DESCRIPTION MOTOR GEAR UNIT 3

description motor gear unit

drive motor code

motor power [kW]

three-phase D

AC current W

motor pole count

n
1
 = 2,800 rpm motor pole count 2

n
1
 = 1,400 rpm motor pole count 4

n
1
 =    900 rpm motor pole count 6

motor execution

standard motor      without code code casket not applied

brake motor (Br )

increased safety (Ex)

fl ame-proof enclosure (Ex)d

 

speed variator code

plaromaster® M

system R

system A

size V, 1, 3, 5, 7, 9, 11

type of construction

B3 -1

B5 -2

B14 -3

B3/B5 -1/2

B3/B14 -1/3

V -V

0,25 D 4 (Ex) M R 3 -2sample of description:

Specification of types of construction:

B3 Foot mounting with through holes as well as centring and 

 tapped holes in the output flange.

B5 Output flange mounting with centring and through holes 

 as well as tapped holes foot -sided in the housing.

B14 Output flange mounting with centring and tapped holes 

 as well as tapped holes foot -sided in the housing.

B3/B5 Foot mounting with through holes as well as output flange 

 mounting with centring and through holes.

B3/B14 Foot mounting with through holes as well as output flange 

 mounting with centring and tapped holes.

V Reinforced/double output shaft bearing (without output flange

 centring, with tapped holes in foot socket)

table 61 3



65

4PLAROTRONIC ® – THE ELECTRONIC SPEED CONTROL

The plarotronic® speed control can be compared 
systematically with a speed regulation of an electronical 
drive. Speed setting, that is the positioning element, is not 
realized over an electronic actuator, but a mechanical 
change in speed variator geometry. This mechanical change 
results in a speed adaption on speed variator output. If no 
electric remote control (EFB) is used, then mechanical change 
is realized by means of a hand wheel on so -called setting 
spindle. If the plarotronic® speed regulation is used, a setting 
motor is planned as positioning element for the plaromaster® 
speed. Setting motor obtains the corresponding positioning 
order from controller to faster or to slower speed, that means 
turning to the right or to the left. If a positioning order takes 
place, speed changes until positioning order is fi nished.

 

Therefore, the positioning element has an integral character. 
This is considered accordingly in plarotronic® speed 
regulation.

The actual value of transmission output speed of 
plaromaster® speed variator is collected by means of an 
incremental speed sensing system. Sensing time of speed 
depends on resolution and accuracy of speed setting 
respectively. Sensing time is 1 second with exact speed 
settings to +/-1 revolution per minute, as gearing of 
transmission output ring of speed variator provides 60 pulses 
per revolution of output ring. This corresponds to 1 pulse 
per second during 1 revolution and 1 Hz pulse frequency 
respectively.

�����������

�����������
�������������

��������������

���
�����������������������������

���������������

����
������������������

�������������

�����

������������

�������������������������������������

�����������������

����������

����
����������������������

picture 57 3

technical data:

speed range: 1 to 1,200 rpm (50 Hz, without reduction gearbox)
power range: 0.18 to 7.5 kW (motor power)
temperature range: -20 to +115 °C (on speed variator surface)
accuracy: speed setting +/- 2 rpm
ATEX specifi cation: category 2, zones 1 and 21
input signals: speed reference value 0..10 V or 0/4..20 mA
alarm signals: block
 setting motor out of order
bus signals: activation reference value
 checking alarm signals



66

PLAROTORQUE ® – THE ELECTRONIC TORQUE METER 3

picture 58 3

With the planetroll ® torque meter plaroTorque® it is possible 
to collect the actual existing torque on speed variator output 
shaft regarding operating conditions.

The infl uencing variables changing over the speed range are 
included here.

Ultimately, the plaroTorque® is a measuring system with a 
typical accuracy of +/-2 %, referring to full scale.

If a reduction or transmission gear unit is used connected in 
series with the speed variator, then the typical infl uencing 
variables mentioned above are calculated with torque.

The torque determined by plaroTorque® is the basic principle 
for a sophisticated as well as cost - and energy -saving 
calculation of drive units and furthermore serves as process 
and characteristic value, i.e. in process technology.

The application of plaroTorque® in test rigs or experimental 
set -ups permits a precise knowledge of general effi ciency, 
power demand as well as effi ciency of working machines.

As a matter of course, it is no problem to apply the 
plaroTorque® in explosion -proof areas, zones 1 and 21 
according to ATEX 95.

technical data:

torque range: 0 to 110 Nm (without reduction gear)
speed range: 1 to 1,200 rpm (50 Hz, without reduction gear)
power range: 0.18 to 7.5 kW (motor power)
temperature range: -20 to +115 °C (on speed variator surface)
accuracy: +/- 4 % ( typically 2 %) from full scale
power supply: input 400/440 V AC, 40/60 Hz controller 24 V DC
supply fl uctuations: are considered
ATEX specifi cation: category 2, zones 1 and 21
input signals: speed reference 0..10 V or 0/4..20 mA
measuring signals: torque, speed, power as voltage output
 0..10 V or supply output 0/4..20 mA
alarm signals: exceeding of max. torque, max. motor power and 
 max. temperature as relay contact, operating time on display unit
bus signals: further alarm signals digitally possible over device network  

��������������

�����������

�����������
�������������

����
������������������

������
������������������

������������
������������
������������

�

�������

�����

������������
�������

��
�

��
��

��
��

��
��

�

�������������
������
������
�������

����������

�������



67

4ATEX SPECIFICATION OF SPEED VARIATORS

table 62 3

classifi cation of equipment

group
group I group II

mines, mine gas other areas with danger of gas or dust explosion

category M 1 2 3

zone 1 2 0 20 1 21 2 22

Ex atmosphere G D G D G D

ignition protective system
planetroll® speed variators

system MR
ck ck ck ck

ignition protective system
planetroll® speed variators

 
c c c c

ignition protective system
planetroll® geared motors c/k c/k c/k c/k

           

Classifi cation of explosion-proof equipment

According to EU-Directive 94/9/EC (also named 
ATEX 95 – previously ATEX 100a) the explosion -proof 
equipment is classifi ed as follows:

Specifi cation of planetroll® drives printed in bold.

planetroll® speed variators do not need any external 
control in general! (However, this is not valid for system MA 

of speed variators.)

category

M =  mining

1 =  extremely high safety

2 =  high safety

3 =  standard safety

Probability of explosive atmosphere:

zone

0/20 =  constantly, long- term, frequently (predominantly)

1/21 = occasionally, during standard operation

2/22 =  rarely, short - time

Ex atmosphere
G =  gas

D =  dust

ignition protective system

fr =  protection by vapour-resisting casing b =  protection by ignition source control

d =  protection by fl ame-proof enclosure p =  protection by pressurized enclosure

g =  intrinsic safety k =  protection by liquid enclosure

c =  protection by safe construction

           

category type conformity by

2

electrical appliances
EC prototype test certifi cation and
– conformity to type of construction or
– production quality assurance

non-electrical appliances technical documentation to Notifi ed Body and internal production control

3 all internal production control



68

TRACTION FLUID FILLING QUANTITIES 3

table 63 3

mounting 
position

1 2 3 4 5 6

B3, B5, B14 V3, V6, V19 B8 V1, V5, V18 B6 B7

size

MRV traction fl uid fi lling for life (contents 15 ml)

MR1

fi lling quantity 70 ml

fi ller plug A A D/G B/C G D

control plug E G F D C B

drain plug D/G B/C B/C E/F D G

MR3

fi lling quantity 160 ml 180 ml 160 ml 230 ml 160 ml

fi ller plug A A D/G B/C G D

control plug E G F D C B

drain plug D/G B/C B/C E/F D G

MR5

fi lling quantity 300 ml 370 ml 300 ml 450 ml 320 ml

fi ller plug A A D/G B/C G D

control plug E G F D C B

drain plug D/G B/C B/C E/F D G

MR7

fi lling quantity 500 ml 750 ml 500 ml 820 ml 500 ml

fi ller plug A A D/G B/C G D

control plug E G F D C B

drain plug D/G B/C B/C E/F D G

MR9

fi lling quantity 850 ml 1.130 ml 800 ml 1.300 ml 850 ml

fi ller plug A A D/G B/C G D

control plug E G F D C B

drain plug D/G B/C B/C E/F D G

MR11

fi lling quantity 3.200 ml 1.700 ml 4.400 ml 2.500 ml

fi ller plug A A D/G B/C G D

control plug E G F D C B

drain plug D/G B/C B/C E/F D G

           
ATTENTION!

Table 63 is only for information. It is absolutely necessary to observe the 

separate schedule for traction fluid quantities, DOKU T148 as well as the

plaromaster® operating instructions MR – ATEX (DOKU T146) and 

MR – non ATEX (DOKU T001)!

The synthetic traction fluids used in the speed variators plaromaster® 

are special oils and may NOT be replaced by any gear lubricating oil 

or mixed up with minimum quantities of gear lubricating oil!

picture 59 3



69

4 SPEED VARIATORS COMBINED WITH REDUCTION OR 
TRANSMISSION GEARBOXES

picture 60 3

planetary gear
planetdrive®

spur gear 
1-stage

spur gear
multi-stage

bevel gear

worm gear

helical worm 
gearbox as well as 
helical bevel gearbox

combined 
clutch-brake unit

skirting

belt drive (pictured)

chain drive

gear transmission

clutch combination

intermediate fl ange

output input

The plaromaster® can be supplied with most different IEC 
standard motors, NEMA motors as well as other motor types 
in explosion -proof and non-explosion -proof execution.
For ATEX explosion-proof zones 1 and/or 21 the 
plaromaster® requires the motors conformal to ATEX only with 
ignition protective system “explosion -proof” for applications 
in zone 1.

The plaromaster® output can be combined with a number of 
reduction or transmission gearboxes in explosion -proof and 
non- explosion -proof execution.

For this reason it is possible to reduce output speed of speed 
variator and to increase it respectively at the same time when 
speed is changing. These gearboxes connected in series can 
be mounted either in closed or so -called open type of 
construction on the planetroll® speed variators plaromaster®.



70

 

OTHER INFORMATION 3

Before ending our journey through this plaromaster® 
catalog, here is some additional useful information:

Important documents for the operation of the 
speed variators

plaromaster® operating instructions  
 MR – ATEX (DOKU T146)
 MR – non ATEX (DOKU T001)

traction fl uid fi lling quantity schedule 
 DOKU T148

Speed variator technology

The speed variator plaromaster® is not self - locking. 

For backlash-free reversal and eccentric operating status 
we recommend to use the speed variator plaromaster® 
of system MA. 

System MA has to be controlled in applications acc. to 
ATEX 95.

Sorts of traction fl uid

The sort of traction fl uid fi lled to each speed variator 
is indicated on identifi cation plate of speed variator. 
The traction fl uids used in the plaromaster® speed variator 
are special oils and may not be replaced by gear lubricating 
oil or mixed up with minimum quantities of gear lubrication 
oil. Traction fl uid quantity depends on each mounting 
position of speed variator.

Please be aware of other planetroll® products:

(planetary gear)

(speed variator control)

(torque meter)

low-backlash planetary gears

geared motors

high -precision speed variators 

special gears (for customized solution)

Visit our website for other important information concerning 
planetroll® and its products  

 www.planetroll.de
 www.planetroll.com

phone number: 

 +49 (0) 700 p l a n e t r o l l , 
 +49 (0) 700 7526387655 

Should you have any additional questions, we are happy 
to assist you in any way possible. 

               Certifi ed according to DIN EN ISO 9001:2000

We wish all the best for you and are looking forward to meet 
you again soon – your plani.

goodbye

70

 

OTHER INFORMATION 3

Before ending our journey through this plaromaster® 
catalog, here is some additional useful information:

Important documents for the operation of the 
speed variators

plaromaster® operating instructions  
 MR – ATEX (DOKU T146)
 MR – non ATEX (DOKU T001)

traction fl uid fi lling quantity schedule 
 DOKU T148

Speed variator technology

The speed variator plaromaster® is not self - locking. 

For backlash-free reversal and eccentric operating status 
we recommend to use the speed variator plaromaster® 
of system MA. 

System MA has to be controlled in applications acc. to 
ATEX 95.

Sorts of traction fl uid

The sort of traction fl uid fi lled to each speed variator 
is indicated on identifi cation plate of speed variator. 
The traction fl uids used in the plaromaster® speed variator 
are special oils and may not be replaced by gear lubricating 
oil or mixed up with minimum quantities of gear lubrication 
oil. Traction fl uid quantity depends on each mounting 
position of speed variator.

Please be aware of other planetroll® products:

(planetary gear)

(speed variator control)

(torque meter)

low-backlash planetary gears

geared motors

high -precision speed variators 

special gears (for customized solution)

Visit our website for other important information concerning 
planetroll® and its products  

 www.planetroll.de
 www.planetroll.com

phone number: 

 +49 (0) 700 p l a n e t r o l l , 
 +49 (0) 700 7526387655 

Should you have any additional questions, we are happy 
to assist you in any way possible. 

               Certifi ed according to DIN EN ISO 9001:2000

We wish all the best for you and are looking forward to meet 
you again soon – your plani.

goodbye



71

4ADDRESSES

Headquarters
Munderkingen

planetroll GmbH & Co. KG
Brunnenbergstraße 11-13
D-89597 Munderkingen
phone: +49(0)73 93/95 18-0
phone: +49(0)700 planetroll
fax: +49(0)73 93/95 18-98
e-mail: offi ce@planetroll.de
www.planetroll.de
www.planetroll.com

Bernhard Häußler
Sales Manager
phone: +49 (0) 73 93/95 18-31
fax: +49 (0) 73 93/95 18-98
e-mail: bhaeussler@planetroll.de

Georg Vieweger
Sales Engineer
phone: +49 (0) 73 93/95 18-30
fax: +49 (0) 73 93/95 18-98
e-mail: gvieweger@planetroll.de

Alfons Stankalla
Sales Engineer
phone: +49 (0) 73 93/95 18-32
fax: +49 (0) 73 93/95 18-98
e-mail: astankalla@planetroll.de

Jochen Baur
Sales Engineer
phone: +49 (0) 73 93/95 18-36
fax: +49 (0) 73 93/95 18-98
e-mail: jbaur@planetroll.de

Mark Hellwig
Sales Department
phone: +49 (0) 73 93/95 18-38
fax: +49 (0) 73 93/95 18-98
e-mail: mhellwig@planetroll.de

Regina Ziegner
Sales Department
phone: +49 (0) 73 93/95 18-35
fax: +49 (0) 73 93/95 18-98
e-mail: rziegner@planetroll.de

Margit Lorinser
Sales Department
phone: +49 (0) 73 93/95 18-34
fax: +49 (0) 73 93/95 18-98
e-mail: mlorinser@planetroll.de

Germany

Dipl.-Ing. (FH) Wilfried Haberer
Büro für Antriebstechnik
Karlsbader Straße 10
78052 VS-Villingen
phone: +49 (0) 77 21/7 30 97
mobil: +49 (0) 175/2 24 49 65
fax: +49 (0) 77 21/7 30 98 
e-mail: wilfried.haberer@t-online.de

KW Antriebs-  
& Automationstechnik GmbH
Koberger Straße 41
90408 Nürnberg
phone 1: +49 (0) 9 11/3 66 38 88
phone  2: +49 (0) 9 11/3 66 38 89
mobil 1: +49 (0) 172/8 10 47 72
mobil 2:  +49 (0) 172/8 12 34 44
fax: +49 (0) 9 11/3 66 38 90
e-mail: info@kw-antriebstechnik.de
www.kw-antriebstechnik.de

INFRA-ANTRIEBE
HANS NELK GMBH
Alter Kirchpfad 6a
32657 Lemgo
phone: +49 (0) 52 61/34 45
mobil 1: +49 (0) 171/5 24 86 74
mobil 2: +49 (0) 160/6 31 91 97
fax: +49 (0) 52 61/1 56 41
e-mail: info@infra-antriebe.de
www.infra-antriebe.de

IBW INGENIEURBÜRO WEBER
Unterstraße 8
37351 Silberhausen
phone: +49 (0) 3 60 75/6 28 48
mobil:  +49 (0) 1 72/8 03 22 61
fax: +49 (0) 3 60 75/6 28 23
e-mail: ingenieurbuero.weber@lycosxxl.de 

ATV Antriebstechnik Vogelskamp e. K. 
Heinrich-Heine-Straße 31
42489 Wülfrath
phone: +49 (0) 20 58/89 55 10
mobil:  +49 (0) 1 60/96 83 61 52
fax: +49 (0) 20 58/89 55 11
e-mail: info@vogelskamp.de
www.vogelskamp.de 

ps antriebstechnik GmbH 
Zum Grenzgraben 29
76698 Ubstadt-Weiher
phone: +49 (0) 72 51/96 28-0
fax: +49 (0) 72 51/96 28-28
e-mail: peter.schmidt@ps-antriebstechnik.de
e-mail: tino.schmidt@ps-antriebstechnik.de
www.ps-antriebstechnik.de

Heinrich WOLF GmbH & Co. KG 
Antriebs- und Steuerungstechnik
Röntgenstraße 1
23701 Eutin
phone: +49 (0) 45 21/7 39 52
fax: +49 (0) 45 21/7 42 79
e-mail: info@wolf-eutin.de
www.wolf-eutin.de

International

AXIS-Aandrijvingen BV
Coenecoop 133
2741 PJ WADDINXVEEN  
NETHERLANDS
phone: +31 (182) 64 70 70
fax: +31 (182) 63 26 32
e-mail: info@axisgear.nl
www.axis-stuifmeel.nl

VEKTOR AG
Chriesbaumstraße 4
8604 VOLKETSWIL  
SWITZERLAND
phone:  +41 (1) 9 46 06 60
fax:  +41 (1) 9 45 55 10
e-mail: info@vektor.ch
www.vektor.ch

REGAL A/S
Industrivej 4
4000 ROSKILDE  
DENMARK
phone:  +45 (46) 77 70 00
fax:  +45 (46) 75 76 20
e-mail: regal@regal.dk
www.regal.dk

VORKAUF, S.A.
Hauptsitz: MADRID
Comandante Franco, 3
28016 MADRID  
SPAIN
phone:  +34 (91) 3 59 17 12
fax:  +34 (91) 3 50 04 31
e-mail: vorkauf@vorkauf.es
www.vorkauf.es
Further offi ces in:
 BARCELONA
 BILBAO
 VIGO

IBERACERO, S.L.
Zona, Industrial Maia  Lote 45  
4475-132 Gemunde – Maia 
(PORTO)
PORTUGAL
phone:  +351 (22) 9 47 90 20
fax:  +351 (22) 9 47 90 29
e-mail: 
iberacero@mail.telepac.pt

AC&DC POWERDRIVES 
(OEM) LTD
Unit 43 Britannia Way
Enterprise Industrial Estate, 
LICHFIELD,
STAFFORDSHIRE WS14 9UY
GREAT BRITAIN
phone:  +44 (15 43) 25 59 95
fax:  +44 (15 43) 25 03 16
e-mail: acdcpowerdrives@aol.com
www.acdcpowerdrives.co.uk

BINDER MAGNETIC
1, allée des Barbanniers
92632 GENNEVILLIERS-CEDEX
FRANCE
phone: +33 (0) 1 46 13 80 80
fax: +33 (0) 1 46 13 80 99
E-mail: info@binder-magnetic.fr
www.binder-magnetic.fr

Ing. Franz Schmachtl KG
Pummererstraße 36
4020 LINZ
AUSTRIA
phone: +43 (0) 7 32/76 46 -0
fax:  +43 (0) 7 32/78 50 36
e-mail: offi ce.linz@schmachtl.at
www.schmachtl.at

ANDANTEX S.p.A.
Via F.lli di Dio 2/A
20063 CERNUSCO SUL NAVIGLIO
(MILANO)  
ITALY
phone: +39 (02) 92 17 09-1
fax:  +39 (02) 92 10 04 55
e-mail: andmec@andantex.it
www.andantex.it

MEKANEX Maskin AB
Dalvägen 20 A
16956 SOLNA  
SWEDEN
phone: +46 (0) 8 705 96 60
fax:  +46 (0) 8 27 06 87
e-mail: info@mekanex.se
www.mekanex.se

MEKANEX OY
Sorronrinne 12, PL 30
08501 LOHJA AS.  
FINLAND
phone: +358 (0) 19 32 831
fax:  +358 (0) 19 383 803
e-mail: info@mekanex.fi 
www.mekanex.fi 

DIEQUA CORPORATION
180, Covington Drive
Bloomingdale, IL 60108-3105
USA
phone: +1 (630) 9 80 -11 33
fax:  +1 (630) 9 80 -12 32
e-mail: info@diequa.com
www.diequa.com

Please find our updated sales addresses
under „Contact“ on www.planetroll.com



ca
ta

lo
g
 M

R 
no

. 
0
4
/

0
5

-0
1
_0

2

International

YAMAKYU CHAIN CO., LTD.

15-16, 2-Chome

Takanawa, Minato -Ku

TOKYO 108  

JAPAN

phone: +81 (3) 4 45 85 11

fax:  +81 (3) 4 45 85 26

e-mail: inter@yamakyu.co.jp

www.yamakyu.co.jp

GERMAN TECH AUTO CO., LTD

No.58, Wu Chuan Road

Wu-Ku Industrial Park 

TAIPEI HSIEN

TAIWAN R.O.C

phone: +886 (2) 22 99 02 37

fax:  +886 (2) 22 99 02 39

e-mail: steve@zfgta.com.tw

www.gta-dtc.com

DAESHIN ELECTRIC IND. CO.

71-546 Hongeun 1-dong

Seodaemun-Gu

SEOUL 120 -101

KOREA

phone: +82 (2) 32 16 -30 11

fax:  +82 (2) 32 16 -23 07

e-mail: dsmk@korea.com

www.candrive.co.kr

TAMKER Kft.

Budafoki út 31

1111 BUDAPEST

HUNGARY

phone: +36 (1) 4 67-28 00

fax:  +36 (1) 4 67-28 14

e-mail: tamker@axelero.hu

www.tamker.hu




